SSYodZ. 2o

2020-0D%-19
_ 5 ol T ,
C?C - L ! glqu-CVlS Fo l (X/..l\ I/'—-/lv [ 7 = >
Z— : Yoo )T o 7
mechedva'rche. e
D PN R . G Y
75) _r 6 - 5 (= & o

Sin (nwyt) Uddde ) AL) G jam = b=0 (/?nfo, n=2,...)

55”(45;/@/%4&4@/ ?rlﬁna/ /gev/ /ﬂo“{,;qL varda

T vid k=6

k W S L/;—/<I;,—-/< fo—-_é Zﬁ'
/\]"’ ~—

0// -

s - = i 'ual/
‘US N = N 7/ é‘/ /0./0’3‘ l L /¢

()= i Sin[ ) <02 cor(B4) | V4

=1 T=7,
o = 15— _ oz
Wy 2_112 f{/z
T;k"T’[:}(L—T;-
bk _ T _w _ 92 _%2_¢
k, T (o 15 5= 5
Dt L/#'*
Zt A
T"klﬁ;élﬁ =3 <
elley




1

R D e L P _

" L g [ (e x0T J

BNy ET e S Al 7]
slev ] | T Ls Ltswya |
bl [ 8\
LM NP
Y=o Ul = W)= (g:\)LHL,D

\Wpu\sgw

. -
4 ( (S‘rl\z’f‘IZJ

/. e/w Sin {LH) U (L)

(




hinl = L 2(02)" - 05 (=04 ] uin)

Z-Lramsf,
Yo 2 2 oo 2 _ S| 2(zon)-0siz-op)]_
Tiie) £~ Z'OIZ v, Z'l'qu A (Z ~012-)(Zf0‘4> J
_ 2Usz+049)
(z—@,z}(zmﬁ)
xin- 3 (06)" 2 Xlz): 2

(2-08)( 2-0(23@ fOH\

5 . 32(\gz+04)

(2-08)(2-02)(2t04)
S ——

Pz — Ad L B C_
TtV - *

—t

2-08 2-02  z+OY

52( 1,52 40 q\ = A(z-02)(2+04) %B(zvog)(zww)+c(z—og)(z—01)

z=:02 » 5080508108) TAOLY) D D A=7

2=02. o Zoll502+09) = B (- be_o\g) = B=~2,

2=-04 » ~LO4(\SoaroR) = ((-\2)(-08) P ¢ =08

(Mu(hp&‘&-e/m M igen)

ST AP S S

Z-0.8 2-02 '~ Z+0Y

Y [n]= z“{\(mﬁ = 708" -2 (02)"-0s(-04)" l a[n]




: \/[r\] -QVU\'Q = b xn-1]J Q= .%2 , b=2,
Z—l«aﬂi&m’v\'\m
N) -0z 'Y\ = b 2 X
Y@ () —az™t) = Xl2) by
\ﬂl{_?,:\, _ (=Y b%’i:_ _ b |
X(2) |~z Z-ov
Trelvenssvor
o
1=e e’ —a
= ) o S
Con()+5in(f)) —a  @shi)-o. *{sivw)

‘r.(@"”““j\\ _ 2. _
n-fT colE) b (5]
— = S i — —}Z
= \‘\‘ — ~J =N 2 = 4\) e
1z
) ‘A‘E\\
r >/[nj= Hie ) Cm(\%\:n +0m}%\r((cq)ﬁ =




2 Hisy= = K70 -
R (o 0 (€ 25 W (i o
K
Veekvensvax Wls)| = 7= 70N
~ {

Fo (e

Tor ‘\M(QWJ X(H) = Cinlwk) bl u@%mM&

v () = ) sin(wt +4) )

cliiv &= arg § H(10)

UHM\V\@Q@M o ()’!fvc-“g\(dl, \eclerna  Soun

\/(Jf\= \H(((’J>\ g(V\((U({ ’£O>> :\\"(\‘US\ Q‘V’((U% —(/u'toj

P E—&réf%%ﬁ@ﬁ%-—-—%%o—aﬁw—c&;rzwﬁ%—

. / ] -
oen Tp~ LO MY

;IA/\s Ay N 0
() X \WWerd ({Co= 280 1T 1eed]
(3&)*\%0)“&) e z
.y ea Q ‘ {4\_’? N v (‘/\ s (’Q__.__._ - (4-) s H_
AT /)-—— g7 6((@&@,7\ 0 G(FC"GV\ P 7y
o, ———
i’g(?o"\ w (%) (-45°)
Xkl\‘ o C{V(I 5% _ if f{:go\
A a “tann X =z k )
tan X = A X-= = =45
12 X ’ ﬁm(fr//Z) -

Pr=—X=—24%|




